N = 0l & At & Ml A

EM: {24 E0f 0!t
Ha: HE2HAH|I(HZ2AEO0HQ D)
S D2l (02 A& D) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O 2 & 0K 1 f 74,653,062 67,784,971 6,868,091
= 49,132,523
g 57,474
Al 13,585,086
- 11,877,979
HESHAH (H2AIAO0HCIDH) 31,851 31,611 240
Jl2HY (HZ2AIZ0Hel D) 31,851 31,611 240
J2A3H (02 A ZHo el ) 31,851 31,611 240
201 et 16,911 17,391 AN 480
01 AP 2t 2] H| 16,911 17,391 AN 480
OFAMA8gLet==H| 9,716,000 *95% 9,231
OJ2gs+8HE20AH|
8,000& x16YH *53| x12& 7,680
202 04| 11,520 10,800 720
01 2Ll 11,520 10,800 720
OJl2gessi= 20l 60,000& 16 x12& 11,520
203 R F &l 3,420 3,420 0
04 EASHEIRFAH| 3,420 3,420 0
OFRNMSIERFEH| 300,000& x12& *95% 3,420
HEGIE L QIEXAS 2= 50,123,997 44 125,745 5,998,252
= 36,915,904
Al 6,941,797
5 6,266,296
Lol AFE 0 B ¥ MEOHN 46,988,799 41,522,911 5,465,888
= 36,863,390
Al 5,927,538
5 4,197,871
LoEXEM =X 2,361 2,192 169
201 et Y| 461 292 169
01 AP 2t 2] d| 461 292 169
OLo=EXge &2d Ssd#a 6,400 +x638 128 461
203 ¥ 2 =&H| 1,900 1,900 0
03 Al ZH =& 2 = X H| 1,900 1,900 0
oko=XNge =4 2,000,000& *95% 1,900
A2 L LQolo < SHAL 57,878 53,813 4,065
307 2iz2tol & 57,878 53,813 4,065
04 SIZ2SHAAIH E & 50,378 46,313 4,065
OsY HA=2EX @#AHl X
2,500&/ %20, 151H 50,378
05 QIZ2tR E 2 7,500 7,500 0
Odz & Lolo U4 s\ &9 7,500,000 7,500
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EM: {24 E0f 0!t
Mo MTSE LO=TAS PE
S9l: Ol APl EOI B0 U MEOH CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HHOlY =2 sHA} 5,000 5,000 0
Al 5,000
307 2Iz2t0| & 5,000 5,000 0
Al 5,000
05 QIZ2tREF 2 5,000 5,000 0
OHBolY =2 &AH 5,000,000& 5,000
Al 5,000
=2 X2 44 916,274 39,978,818 4,937,456
= 35,933,020
Al 5,389,953
- 3,593,301
301 et A= 44,916,274 39,978,818 4,937,456
= 35,933,020
Al 5,389,953
- 3,593,301
01 Al B & X 462 44 916,274 39,978,818 4,937,456
OPIES S =N 44,916,274 ,000& 44,916,274
= 35,933,020
Al 5,389,953
- 3,593,301
Logts=sgAMHlA N 1,398,860 1,025,120 373,740
= 930,370
Al 234,920
- 233,570
307 2I2t0| & 1,398,860 1,025,120 373,740
= 930,370
Al 234,920
- 233,570
11 A EXAIEE X 1,398,860 1,025,120 373,740
Ookolgds=s=sAH A 1,329,110,000& 1,329,110
= 930,370
Al 199,370
- 199,370
OLolats=s2AH A 2X&E S 750,000& 750
Al 750
OLolgt==E2AHA ESetAH22H &
600,000& 600
Al 600
Okolss ¥ S3od FEXNJAIN S SAXE
s9 100,000& 57 x12& 68,400
Al 34,200
- 34,200
Logt==s=2 A N2 (9EE2R) 20,400 20,400 0
307 QI2t0| & 20,400 20,400 0
11 A EXAIEEX 20,400 20,400 0




EM: {24 E0f 0!t
Mo MASE Lo=XAE 2=
B S0l AlS E0 =0 & MEoHA (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OSzeslld s/co SEaclA 2=0 X
< 85,0002 x20% x12& 20,400
loT A8 oA E 88,032 55,890 32,142
Al 44,016
- 44,016
301 et A= 21,350 4,400 16,950
Al 10,675
- 10,675
01 AISIE & A 462 21,350 4,400 16,950
OloT XS8 eHAE(I171 72 Hl)
21,350,000 21,350
Al 10,675
- 10,675
307 2Iz2t0| & 66,682 51,490 15,192
Al 33,341
- 33,341
11 A EXAIEEX 66,682 51,490 15,192
OloT NSE GHME(SHRS S)
61,182,000 61,182
Al 30,591
- 30,591
OloT ANs8 ot ZE(£2H S 22dle)
5,500,000& 5,500
Al 2,750
- 2,750
TOP=Ql ATAMHHE 41,600 28,080 13,520
Al 20,800
- 20,800
307 212t0| & 41,600 28,080 13,520
Al 20,800
- 20,800
11 A EXAIEEX 41,600 28,080 13,520
OMIt=Ql AAIBHE 4 000& *40Y x53| x52F= 41,600
Al 20,800
- 20,800
A2 A R34 276,640 186,030 90,610
Al 138,320
- 138,320
307 2iz2to| A 276,640 186,030 90,610
Al 138,320
- 138,320
11T A EXAIEEX 276,640 186,030 90,610
OZzAaY 234 4 000& *266H x53| x523= 276,640
Al 138,320
- 138,320
ARAG U IO PRHL DAL HAA YL T 18,210 0 18,210
2l Al o1& X &




2AM: HZaE0Hel
M dEStE L=EXAE 25
9l ol AlS] ROl SO L MBOHE (e &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 9,105
T 9,105
307 glz2tol & 18,210 0 18,210
Al 9,105
T 9,105
11T M SXASEEX 18,210 0 18,210
OARAIG U W0l DSBS AL AAA
2 IelA ¢ E XA 18,210,000& 18,210
Al 9,105
T 9,105
Lo aAl AII2 ZHEZ MY 4,000 4,000 0
Al 2,000
- 2,000
402 RI2FX =01 M 4,000 4,000 0
Al 2,000
- 2,000
02 QI EAILSEZ (01X E) 4,000 4,000 0
ORI A AFHII 2 ’é*l:ll_‘?’_%*/\h:,
2,000,000 *20H 2~ 4,000
Al 2,000
T 2,000
Hess =8 =2 2 HFH X At 2,304 2,528 N224
Al 2,304
201 L2l 2,304 2,528 A 224
Al 2,304
01 At 22l 2,304 2,528 A 224
ONgss =8 =2 & Z XE At
92,1603 »25H 2,304
Al 2,304
SEE=EXHE N 152,240 161,040 A 8,800
Al 76,120
- 76,120
307 21201 A 152,240 161,040 A 8,800
Al 76,120
- 76,120
11T ALS S XAEE = 152,240 161,040 A 8,800
OSEg=XHE K& 152,240,000& 152,240
Al 76,120
T 76,120
FHotol otA3 & eIl s X 5,000 0 5,000
Al 5,000
301 LEXZ 5,000 0 5,000
Al 5,000
01 MEIEBEZE 406z 5,000 0 5,000
OF ol 0tAaa & We)| s N
5,000,000& 5,000
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EM: {24 E0f 0!t
HM: HdESE Lo=2XAE 2=
el Ol AIS| EOl BI) W MEBOE (e mg)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| | Al 5,000
OIS XAIEXA 3,135,198 2,602,834 532,364
= 52,514
Al 1,014,259
- 2,068,425
A2 XNE MAARAS 29 1,120 0 1,120
201 gBt24 | 1,120 0 1,120
01 AP 2t 2| H| 1,120 0 1,120
OFIQLAIZXNEMAMARS S
70,000& *4H *43] 1,120
FEHSESL AR 2A 90,350 76,200 14,150
307 212t0| ™ 55,200 55,200 0
05 QIZtREZ 55,200 55,200 0]
OFEMNBSLAAR SAL HHdH
55,200,000 55,200
402 SI2FXHE0| & 35,150 21,000 14,150
03 CI2H2| EF AL HI 35,150 21,000 14,150
OFEMNSLA2AR HHIIsE22
35,150,000 35,150
COIQAANLEEE(IsEY) ALY 9,500 0 9,500
= 4,750
Al 4,750
402 SI2F X0l & 9,500 0 9,500
= 4,750
Al 4,750
02 BIZtXIEANYEX(OIETHH) 9,500 0 9,500
02021 Lo QUALdEE JsEA(SMA
A X) 9,500,000& 9,500
= 4,750
Al 4,750
MOt S X AFS 203,120 186,950 16,170
Al 101,935
- 101,185
307 gizto| & 203,120 186,950 16,170
Al 101,935
- 101,185
11T AISIEXAIEEX 203,120 186,950 16,170
OMIMIL=XAE 29 202,370,000 202,370
Al 101,185
- 101,185
OMIEQEXNALE(SAX) EXNEE I
550,000& 550
Al 550
OMIL=EXNAE(EAR) ESHALAHEH|
200,000 200




2M: =2 ZO0HCI
Mo MTSE LO=TAS PE
& SASXAENE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 200
LOINIIAIE 29 1,074,024 1,026,100 47,924
Al 503,587
=) 570,437
307 gl2tol & 1,074,024 946,100 127,924
Al 503,587
=) 570,437
05 RIZIRI & 3 1,020,424 892,500 127,924
okel=xa 2498 XA 1,006,274,000& 1,006,274
Al 467,637
- 538,637
O024l QIZIAIE 28 HItES ALY
10,000, 000& 10,000
Al 5,000
- 5,000
OLQNIAIE SX&E= X&E 2,750,000 2,750
Al 2,750
OLQHIAIE A2 Z &l 1,400, 000& 1,400
Al 1,400
10 ALSISXAIEEE2GHEX 53,600 53,600 0
OLolthsr 2gdl X& 53,600,000 53,600
Al 26,800
- 26,800
Z2Y HIIE3 E2AHY 213,016 205,330 7,686
Al 97,091
- 115,925
307 21201 A 213,016 205,330 7,686
Al 97,091
- 115,925
11 ALS S XAEE = 213,016 205,330 7,686
22 HII23 E2AY 213,016,000& 213,016
Al 97,091
T 115,925
theteolsl S X32 X2 86,550 83,350 3,200
Al 15,833
- 70,717
307 glz2tol & 86,550 83,350 3,200
Al 15,833
T 70,717
03 SIAHNHE2IHIEL 86,550 83,350 3,200
Olfgtcelsl E+Xs 24H XA 54,884
—AR=E - 2& o244l X 39,854,000 39,854
— 294l K& 15,030, 000& 15,030
OZ2Y &3 ZZ2 0 el /Al
31,666,000 31,666
Al 15,833




2AM: HZaE0Hel
M dEStE L=EXAE 25
el LA sSXAEXE (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| - 15,833
I=2Y 249 N& 599,528 517,756 81,772
Al 203,817
- 395,711
201 £B-2dH| 191,842 129,331 62,511
Al 42,957
- 148,885
01 At 22l 98,300 62,904 35,396
Oz3zg 2Z2d X 4,080,000& 4,080
OZ=2Y CH0te Xt LRt 2
79,500 +600 &+ 12 57,240
ogaazg s2J sAzel 1,584,000 1,584
O&dzd 3J&EFI Xz 35,395,200& 35,396
Al 17,698
T 17,698
02 2324l 93,542 66,427 27,115
OZ2Y 2ttt
110,000 *7H A+ 12& 9,240
OdJIItdEH =23 88,0003 *88H A 7,744
OtrdZgE==2 55,000 *88H 2 4,840
28z 200,000 » 164 2 3,200
OZd2Y AU 50,0003 *88IH A %123 52,800
Al 17,400
T 35,400
OoZ2% 20/I0l X 15,718,000& 15,718
Al 7,859
- 7,859
307 21201 A 354,640 375,879 221,239
Al 134,337
- 220,303
10 M2 SXNANEHE2IHEX 354,640 375,879 A21,239
OZz2% 294 XA 354,640,000 354,640
Al 134,337
T 220,303
405 RHoHF S HI 53,046 12,546 40,500
Al 26,523
- 26,523
01 AL EZFH S 53,046 12,546 40,500
oz 257Y XA 12,546,000& 12,546
Al 6,273
- 6,273
OZ2% A2dH adza=) X
40,500,000& 40,500
Al 20,250
- 20,250
Z2Y ¢itgyl 2 2=2Hl N2 191,056 184,992 6,064




= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 47,764
Al 71,646
T 71,646
307 i+l & 191,056 184,992 6,064
= 47,764
Al 71,646
T 71,646
10 ALl S XA E - 191,056 184,992 6,064
OZ2Y tHt 128,530, 000& 128,530
= 32,132
Al 48,199
- 48,199
OZ3zY dHdy| 17,380,000 17,380
= 4,344
Al 6,518
T 6,518
OoZzg 2d3X& 45,146,000 45,146
= 11,288
Al 16,929
- 16,929
2 HE= 60,000 60,000 0
401 AIEHI L 2 CHYI 60,000 60,000 0
01 A& HI 60,000 60,000 0
OZ2E HE= 60,000,000& 60,000
FRL(MEHD]) Js 40,000 40,000 0
402 RI2HX20| ™ 40,000 40,000 0
01 BIZEXI =2 A 2 40,000 40,000 0
OZ=zg(Med 40,000,000& 40,000
2 iz I8 13,135 23,350 A 10,215
201 24l 13,135 23,350 A 10,215
01 At 22l 13,135 23,350 A 10,215
ot (dleZ)d=zY 2dxE  200,000& =128 2,400
OS24s3 24 BA HRE 1,400,000 1,400
O==Z2% BN UHE= 5,500,000& 5,500
OsE8s3d24 BA UHRs 810,000 810
oddirszz =g=4 3,024,800& 3,025
SME2Y WA= 522,599 0 522,599
401 A& HIZ 201 Y] 522,599 0 522,599
01 A& HI 506,000 0 506,000
oz zg M 486,000,000& 486,000
ogaARY T Z 89 9 422
20,000,000& 20,000
02 Zeltl 12,841 0 12,841




2M: =2 ZO0HCI
Mo MTSE LO=TAS PE
& SASXAENE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OKF2Y HA=2Zeltl 12,841,000& 12,841
03 Al S HHI 3,758 0 3,758
OMIZE HAS AL R 3,758,000 3,758
HeE3dzd 29 31,200 41,200 A 10,000
Al 15,600
- 15,600
307 gl2tol & 1,200 1,200 0
Al 600
- 600
10 AL SXAIEEE2EHEX 1,200 1,200 0
OMNegEF2Y 2848l 100,000& «10H A +12& 1,200
Al 600
T 600
401 Al HIZ 2018 20,000 30,000 A 10,000
Al 10,000
T 10,000
01 A& HI 20,000 30,000 A 10,000
OMNgagd=e &ZIed 20,000,000 « 100 £ 20,000
Al 10,000
- 10,000
405 XtatE SHI 10,000 10,000 0
Al 5,000
- 5,000
01 HatH ESFH S 10,000 10,000 0
Oongdgzdazgd 2372 10,000,000 =14 & 10,000
Al 5,000
T 5,000
Zoiel =XAte 28 11,191,219 9,932,635 1,258,584
= 5,023,448
Al 3,720,578
T 2,447,193
ZOHQIMBOL™ ALY XI& 10,804,208 9,565,588 1,238,620
= 5,021,448
Al 3,554,067
T 2,228,693
s SH X= 2,109,752 1,987,333 122,419
= 1,476,826
Al 316,463
- 316,463
301 LEXZ 2,109,752 1,987,333 122,419
= 1,476,826
Al 316,463
- 316,463
01 MeI2EZE+06l= 2,109,752 1,987,333 122,419
OFeld=zg S X2 2,109,752,000& 2,109,752
= 1,476,826




2AM: HZaE0Hel
M HOHQ =X Atg 28
S ZOHAMEOIFAY K& (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 316,463
T 316,463
= (Ilx) X2 268,418 248,157 20,261
= 187,892
Al 40,263
- 40,263
301 LEHZ 268,418 248,157 20,261
= 187,892
Al 40,263
- 40,263
01 MI2EZE 06z 268,418 248,157 20,261
OFM==((Ix) X2 268,418,000& 268,418
= 187,892
Al 40,263
- 40,263
A= (MHaR S) NS 173,778 157,137 16,641
= 121,644
Al 26,067
T 26,067
301 LEEAZ 173,778 157,137 16,641
= 121,644
Al 26,067
T 26,067
01 MEIBZE 263 173,778 157,137 16,641
OZFM=Z (XA S) X2 173,778,000& 173,778
= 121,644
Al 26,067
- 26,067
MWNHSSTHY MASBEE 110,592 108,000 2,592
Al 110,592
301 LEAF 110,592 108,000 2,592
Al 110,592
01 MI28E 6= 110,592 108,000 2,592
OMIMt=EEe MdASE=E 110,592,000 110,592
Al 110,592
ZOHAEXRII| WRAS 5,000 4,000 1,000
= 4,000
Al 500
- 500
301 LEAZ 5,000 4,000 1,000
= 4,000
Al 500
- 500
01 A3l EE & 563 5,000 4,000 1,000
OFOMAEZEII] WEAL 5,000,000& 5,000
= 4,000
Al 500




EM: {24 E0f 0!t
Ha: ROjel =XAE P
ol FONOIMEOIHAIY X (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| - 500
Hofelol=2Hl XN& 63,528 63,528 0
= 50,822
Al 6,353
- 6,353
308 XAHXIEHSOIA 63,528 63,528 0
= 50,822
Al 6,353
- 6,353
112 2SHUSHEMNEAEASY 63,528 63,528 0
OZofele2H XN 63,528,000 63,528
= 50,822
Al 6,353
5 6,353
HHEZAAMNMANE 29 2,067 1,463 604
= 1,033
Al 517
- 517
301 dEtE M= 2,067 1,463 604
= 1,033
Al 517
- 517
01 Al B & X 46 2 2,067 1,463 604
ONMASHEOHR Aoyl & 2 AHH X &
2,067,000& 2,067
= 1,033
Al 517
5 517
HAEEMC EAtHIE & 2,000 2,000 0
= 1,400
Al 300
- 300
301 et A =2 2,000 2,000 0
= 1,400
Al 300
- 300
01 Al B & A 46 2 2,000 2,000 0
OHd &S SHHIE XN 2,000,000& 2,000
= 1,400
Al 300
- 300
H2HAQ olzdHol2 == K& 1,500 4,000 A2,500
Al 750
- 750
301 et M= 1,500 4,000 A 2,500
Al 750
- 750




2N
X ZH -
L= B

el

GESRNESY( el
ZoHe SXAME 2
oA IAY XA

5 - 4
A EE R (E) - HRAY - B S of 4 o4 il HI RS2
01 32X 0= 1,500 4,000 A 2,500
OHAROHQ IBLWOIZ 42 X
1,500, 000& 1,500
Al 750
T 750
oo MEEEAMNE 23 13,000 11,000 2,000
Al 6,500
- 6,500
307 glztol & 13,000 11,000 2,000
Al 6,500
- 6,500
M ASIMNSEX 13,000 11,000 2,000
O HMEIBH2 2 13,000,000& 13,000
Al 6,500
- 6,500
ZOiQlotolm A 2HS2I] X2 5,301 0 5,301
Al 5,301
307 glztol & 5,301 0 5,301
Al 5,301
M AMSIMNSER 5,301 0 5,301
OZOHeIatolm A 2HEHHI X
5,301,000& 5,301
Al 5,301
ZHASES HEHHS ALY 5,448 0 5,448
Al 2,724
- 2,724
201 2er= 4l 5,448 0 5,448
Al 2,724
- 2,724
02 SE=4Hl 5,448 0 5,448
OZMASES MHEHS AL 5,448,000& 5,448
Al 2,724
- 2,724
IS XE S0 3,546,834 3,339,587 207,247
= 2,482,785
Al 532,025
T 532,024
307 212t0 & 3,546,834 3,339,587 207,247
= 2,482,785
Al 532,025
T 532,024
05 It E = 3,546,834 3,339,587 207,247
o egsIa 20 3,546,834,000& 3,546,834
= 2,482,785
Al 532,025
- 532,024




2N
X ZH -
L= B

el

04 04 2
S 2 u

= =

e
02
2

Ju

b

S e
3]

1o
© U
o e

o

°
0=
(1]
S
0
=

r

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ANZFIt SSE0H 2sX& 288,552 233,492 55,060
Al 144,276
- 144,276
307 gl2tol & 288,552 233,492 55,060
Al 144,276
- 144,276
05 BIZHRI & 3 216,512 233,492 A 16,980
OAMZzI =5Z0el 8sXF  216,512,000& 216,512
Al 108,256
- 108,256
11T MISXASEX 72,040 0 72,040
OZSTSTHL 24M2HESXH 72,040,000 72,040
Al 36,020
- 36,020
s X JtetsS0 13,879 7,711 6,168
= 9,715
Al 2,082
- 2,082
307 glz2tol & 13,879 7,711 6,168
= 9,715
Al 2,082
- 2,082
05 BIZHRI & 3 13,879 7,711 6,168
OFoferasX& Jtat=ado 13,879,000 13,879
= 9,715
Al 2,082
T 2,082
HOHQBSXAAN SEALA XY X 10,000 0 10,000
Al 10,000
307 glz2+ol & 10,000 0 10,000
Al 10,000
11T MISXASEX 10,000 0 10,000
OFHe SKIAA S&HAH 10,000,000 10,000
Al 10,000
O ESKNIAME oA 29 2,520 2,520 0
201 Let2d] 2,520 2,520 0
01 At 22l 2,520 2,520 0
OBWUBSNA +SNAYAARE HFaag
70,000 »3H » 123 2,520
dMHEB MU A HRH™H XIJ 302,400 237,514 64,886
= 211,680
Al 45,360
T 45,360
307 21201 A 302,400 237,514 64,886
= 211,680




EM: {24 E0f 0!t
M MO SXAE P&
CHe|: HOHOIMEI™AY XS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
Al 45,360
- 45,360
05 QIZtR E S 302,400 237,514 64,886
O THEMEIA BIR2H XS 302,400,000& 302,400
= 211,680
Al 45,360
- 45,360
S THEME A M20|2 XE /s 29 324 780 N 456
201 et 9| 324 780 N 456
01 AP 2t 2] H| 324 780 N 456
OYSTHEAMEIA MZ20/2 XA s 29
o EHMaG 324
— S48 44 ,000& *13] 44
— && G 70,000 *4H «13] 280
S HHR E2ASIA 2,858 953 1,905
= 2,000
Al 429
- 429
307 gizto| A 2,858 953 1,905
= 2,000
Al 429
- 429
05 QIZtRES 2,858 953 1,905
OYgg e SR A 2,858,000& 2,858
= 2,000
Al 429
- 429
SEEEOO F2UHESAHHIA 450,444 211,558 238,886
= 315,310
Al 67,567
- 67,567
307 212t0| & 450,444 211,558 238,886
= 315,310
Al 67,567
- 67,567
05 QIZtR &2 450,444 211,558 238,886
OYGY Xl F=2HE S AHIA 450,444,000 450,444
= 315,310
Al 67,567
- 67,567
SEHO AIFI FASS AU A 55,680 0 55,680
Al 27,840
- 27,840
307 2iz2to| A 55,680 0 55,680
Al 27,840
- 27,840




2M: =2 ZO0HCI
Ha: ROjel =XAE P
S ZOHAMEOIFAY K& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 55,680 0 55,680
OLLTQ AZI EASS AL
55,680,000 55,680
Al 27,840
T 27,840
LT LU= ESMHHA 223,345 91,531 131,814
= 156,341
Al 33,502
- 33,502
307 glz2tol & 223,345 91,531 131,814
2 156,341
Al 33,502
- 33,502
05 RIZHRIE 3 223,345 91,531 131,814
OZZ M HuU=&sMHEIA 223,345,000 223,345
2 156,341
Al 33,502
- 33,502
LSO Xtard A X 24,000 0 24,000
Al 12,000
T 12,000
301 LEPEXZ 24,000 0 24,000
Al 12,000
T 12,000
01 MEIBEE 2053 24,000 0 24,000
Ogge Maagd XA 24,000,000 24,000
Al 12,000
- 12,000
ZOHAXRIGAISITHEAE 29 2,480,576 2,317,287 163,289
Al 1,860,438
- 620,138
307 21201 A 2,480,576 2,317,287 163,289
Al 1,860,438
- 620,138
05 BIZHRI & 3 2,112,224 1,975,821 136,403
oz =Ex2(22, I5H) 2% 1,613,273
—=a 294 1,225,167,000& 1,225,167
Al 1,225,167
— &2 249 388,106,000& 388,106
Al 214,053
T 174,053
OZS M AISSX AL (HOCIS 2)
30,683,000& 30,683
Al 30,683
OMAISEY HEAM(HHA =S 2)
30,000, 000& 30,000




SN 02 AF
M HOHQ =X Atg 28
ol FONOIMEOIHAIY X (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXOHQl &SE Al "ALL IN ONE'Z 2 ® E (F0f
OIS XI2)(F=2IE 0104 10,000,000& 10,000
OFE(ER, 28 )FUESHH 2¢ 399,468
—SAFAESHH 24 198,024,000& 198,024
Al 99,012
- 99,012
—gEFUESHH 29 201,444,000 201,444
Al 100,722
= 100,722
ORY(ER, ¥E)FA2sME T2 X
2 7,200,000& »23] 204 2 28,800
10 ALSISXAIEEE2GHEX 368,352 341,466 26,886
OMIMI=XNHH 29 140,126, 000& 140,126
Al 70,063
- 70,063
O0IZt FALBHE (SXM) 2
214,976,000 214,976
Al 107,488
T 107,488
OBAX SXE2 N (SN, Mot
ANHEH, =2AE2SHH) 8,050,000& 8,050
Al 8,050
OZAR ZSALATG(ROHA =T 2, MW=
ANHEH, =2A2SHEH) 5,200,000& 5,200
Al 5,200
O AF=AIE 2 K& 188,526 125,220 63,306
Al 94,938
- 93,588
307 gl2tol & 188,526 125,220 63,306
Al 94,938
- 93,588
10 M3 SXNANEHISIHEX 188,526 125,220 63,306
OFMLINFALE 22 N 187,176,000& 187,176
Al 93,588
T 93,588
OHMAANF=AIE SXNE= NE 750,000& 750
Al 750
OBOAHTAL ZSABANY X &
600,000& 600
Al 600
Ol HIHFAIE 2Y 319,875 288,116 31,759
Al 160,750
- 159,125
307 21201 A 319,875 288,116 31,759
Al 160,750
- 159,125
10 M2 SXNANEHEIS2IHEX 319,875 288,116 31,759




EM: {24 E0f 0!t
M MO SXAE P&
CHe|: HOHOIMEI™AY XS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OHOMR SHIAHFANE 29 318,250,000& 318,250
Al 159,125
- 159,125
QORI SHIAHF=AIE EXNE XS
1,025,000 1,025
Al 1,025
OZOC SHIAHFAIE SALL SEAZZ XY
600,000& 600
Al 600
O EESSAMNY =X 98,201 97,501 700
Al 46,530
5 51,671
307 QI2t0| & 98,201 97,501 700
Al 46,530
- 51,671
05 QIZtRES 98,201 97,501 700
OXHUEE2SAMYE 29H| X
92,061,000 92,061
Al 46,030
5 46,031
OHMUEL2SAIYE SAMAN SXNEx AR
300,000& 300
Al 300
OXHMOUEL2SAIE SAA SE§HL A EH|
X & 200,000& 200
Al 200
OHMUEL2SAIYE HEHA Sdig &
640,000 5,640
ORI AISI HEAIAE SHIMNA AIY 10,610 0 10,610
401 AlEHIZ £ 0HY| 10,610 0 10,610
01 Al&EH| 10,610 0 10,610
OFMU=ER 2 sS4 22 EH 2A 10,610
— ALAl & A HI 610,000 610
— =24 RXE H){ Z2AHH] 10,000,000& 10,000
St=E3HEH BEXs &8¢ 25,200 25,200 0
201 et 25,200 25,200 0
02 232 H| 25,200 25,200 0
O2232=2 % HA 25,200
— &I Ra 2,000,000 ~12& 24,000
—=ER23 100,000& = 12& 1,200
ZOHQ ZATHEANE 2Y 279,741 267,539 12,202
= 2,000
Al 140,620
- 137,121
oo HATHEANE 29 275,741 267,539 8,202




22X 24
M Mol 2XALE 28
0

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Al 138,620
- 137,121
307 2iz2to| A 275,741 267,539 8,202
Al 138,620
- 137,121
05 QIZ2tRE 2 275,741 267,539 8,202
OHOMQ HATHEANE 29 274,241,000 274,241
Al 137,120
- 137,121
OFOMC HATHEAE SAN SXEE
900,000& 900
Al 900
OZOC MNATHEAIE SAL SEA2LZF XY
600,000& 600
Al 600
R MNATEAILE JDIsELY ALY 4,000 0 4,000
= 2,000
Al 2,000
402 SI2F 20| & 4,000 0 4,000
= 2,000
Al 2,000
02 QX2 A E X (0| HTHS) 4,000 0 4,000
OO HATHEAIE JsEL AIY
4,000,000& 4,000
= 2,000
Al 2,000
ZOHQl HOSKE ALY 69,510 61,748 7,762
Al 25,891
- 43,619
el HO=E ALY 17,878 14,878 3,000
201 gEt24Hy| 11,928 8,928 3,000
01 AP 22| d| 11,928 8,928 3,000
OFoe Mg FH7Y ol 29 222 o
HI 7Y 50,0002 x20JH+20, 000 = 1004 3,000
O&Me M8 =X 22 29 1x5&=2 S
W 6,400 x203] 128
OZel 82 F=X2E 22 294
400,000 «123| 4,800
OAZEHE EXHEE M & 40,000& x1008 4,000
203 & R =&t 950 950 0
03 Al 2 =& 2 = X H| 950 950 0
OHMAUAIE 28 L2 =& 1,000,000& x95% 950
405 XHAHF S HI 5,000 5,000 0
01 XA 2 ZF S| 5,000 5,000 0
O&el EHo=2E 2 5,000,000& 5,000
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2M: =2 ZO0HCI
M HOHQ =X Atg 28
ol FOHOl HMOBZH At (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O EOYAlE SN MYH 2SN 51,632 46,870 4,762
Al 25,891
- 25,741
307 gl2tol & 51,632 46,870 4,762
Al 25,891
- 25,741
11T AIS S RAEE = 51,632 46,870 4,762
OZOMABEAANLE SAXNJHH 2SN
51,632,000 51,632
Al 25,891
- 25,741
el A= 37,760 37,760 0
ZOHQ XtgE Y QA MY ALY 760 760 0
201 Let24d] 760 760 0
01 At 22/l 760 760 0
OFe HESX L AAEE WS 760
—ZA=E 500,000& 500
—d1n= 260,000 260
ZOHQ HAASEAY X 25,000 25,000 0
307 2201 A 25,000 25,000 0
02 It M AHE L 25,000 25,000 0
OFHe HAASAAY XA 25,000,000& 25,000
ZOHQS & A 2H 12,000 12,000 0
201 Let24E] 12,000 12,000 0
03 A2 Z Hl 12,000 12,000 0
OZOMR & #HA 2 12,000,000& 12,000
Lol Udxtel XA 9,521,220 9,252,685 268,535
= 4,456,667
Al 2,387,892
T 2,676,661
ol Xtel & At ESKIE = 8,939,984 8,708,510 231,474
= 4,456,667
Al 2,243,733
T 2,239,584
Lolgiiel 2 AMSESKE EUH(RdsU #2NY 378,000 378,000 0
ol)
= 189,000
Al 94,500
- 94,500
201 £B-2dH| 21,600 21,600 0
= 10,800
Al 5,400
- 5,400




2N

= 2
ol xiel & Al E=SX &Y )
o
CEE B (BH) - HBRAY - BAS %Ei HR=2
01 AP 22| H| 21,600 21,600 0
O=2lsy sFXNZL0IAY XY 21,600,000 21,600
= 10,800
Al 5,400
- 5,400
301 et M= 356,400 0 356,400
= 178,200
Al 89,100
5 89,100
12 J|EtE2 A= 356,400 0 356,400
ogs4< 356,400, 000& 356,400
= 178,200
Al 89,100
- 89,100
LOolATIE] L A ESK S (I 2 AFY) 8,121,580 7,920,950 200,630
= 4,049,540
Al 2,036,020
- 2,036,020
307 2Iz2t0| & 8,121,580 7,920,950 200,630
= 4,049,540
Al 2,036,020
- 2,036,020
11T AISIEXAIE EX 8,121,580 7,920,950 200,630
OLQANZES (oY Rtel) NEAMY
8,121,580,000& 8,121,580
= 4,049,540
Al 2,036,020
- 2,036,020
olaxie] & AISIESXH S (Mo o1AHH|) 440,404 409,560 30,844
= 218,127
Al 113,213
- 109,064
101 Q124 H] 26,012 25,657 355
= 12,831
Al 6,765
- 6,416
04 JIZtHIZ2ZXNEE 26,012 25,657 355
OgdXelx=s)|2 degoldd oI AHE (PH)
24,401,000 24,401
= 12,201
Al 6,100
- 6,100
oYX+ Hole YN (DH)
1,261,000 1,261
= 630
Al 315
- 316
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2AM: HZaE0Hel
M Lol g2l
S Sodiiel ¥ AMESXE =M (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ogicl=8J2 Agos zad3280 (2
&) 200,000 200
Al 200
Oditel=adla dgold sHE(7E)
150,000& 150
Al 150
307 glz2tol & 414,392 383,903 30,489
= 205,296
Al 106,448
- 102,648
11T M SXALSE EX 414,392 383,903 30,489
OYX2l4+aI|2 Heolat oAy
390,416,000 390,416
= 195,208
Al 97,604
T 97,604
OgxizlasIlZ Meole MM
20,176,000 20,176
- 10,088
Al 5,044
T 5,044
Ogitel=ad|& Mgl ZggA2d Al
1,400,000 1,400
Al 1,400
OYXel+8l2 Mol 2XE+
2,400,000 2,400
Al 2,400
Colgite| o2 X 581,236 544,175 37,061
Al 144,159
- 437,077
SOl dEI 2 2F X 581,236 544,175 37,061
Al 144,159
- 437,077
201 L2l 5,659 0 5,659
01 At 22l 5,659 0 5,659
OFRAUE 22X AMEZ 5,659,000& 5,659
307 glz2+ol & 575,577 544,175 31,402
Al 144,159
T 431,418
10 ALSISEXAIEEE2EHEX 559,577 528,175 31,402
OLQlelsferdy 294 XN&
557,577,000& 557,577
Al 134,159
- 423,418
O QI EEE SAA SXE== X&
1,400,000 1,400
Al 1,400




SA: HZAZ0He
g el gxelXd
L

Chelr Logdeldglia X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLQlolsEIfedE SALA SEA2Z &8 X
2 600,000 600
Al 600
11T M SXASEEX 16,000 16,000 0
O Qg RtelAr At XI&
11,000, 000& 11,000
Al 5,500
T 5,500
OFZALN HNsZ27d 29
5,000,000& 5,000
Al 2,500
T 2,500
ZOHQ LXelX# 1,105,212 990,687 114,525
= 521,487
Al 273,519
- 310,206
Zofel Lgiel 24 1,068,525 947,430 121,095
= 521,487
Al 273,519
- 273,519
Zool LXtel XA (Leragdxtel) 729,890 688,540 41,350
= 364,945
Al 182,473
- 182,472
101 14 dl 729,890 688,540 41,350
= 364,945
Al 182,473
- 182,472
04 JIZHHZ2Z2XRHEE S 729,890 688,540 41,350
OZOHel LXtel XJA(Lersy dxtel)
729,890,000 729,890
= 364,945
Al 182,473
- 182,472
Zofel LXxiel XA (SXLXel) 128,343 120,408 7,935
= 64,171
Al 32,086
- 32,086
101 14 Hl 128,343 120,408 7,935
= 64,171
Al 32,086
- 32,086
04 JIZHHZ2XNHEE S 128,343 120,408 7,935
OO0l dXxtel XNE(=SXRLAel)
128,343,000& 128,343
= 64,171
Al 32,086
- 32,086
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2M: =2 ZO0HCI
M ZOHel LXK
Sl Zojel LX2l 2Y CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
ZoNel LXtel X (ALHLAtel) 118,192 89,306 28,886
= 59,096
Al 29,548
- 29,548
101 @14 dl 118,192 89,306 28,886
= 59,096
Al 29,548
- 29,548
04 JIZHHZ2XREES 118,192 89,306 28,886
OZOoiel dXtel X2 (AZ2tHMYXtel)
118,192,000& 118,192
= 59,096
Al 29,548
T 29,548
ZofC LXel KNJA(LLEMALAESAE LAt 66,549 49,176 17,373
)
= 33,275
Al 16,637
T 16,637
307 21201 A 66,549 49,176 17,373
= 33,275
Al 16,637
T 16,637
11T M3 SXAISEEX 66,549 0 66,549
OLZTMe AEBSA ExL el At
66,549,000& 66,549
= 33,275
Al 16,637
- 16,637
Zoe Xl NA(SSHMY XS 322 Xal) 25,551 0 25,551
Al 12,775
T 12,776
307 21201 A 25,551 0 25,551
Al 12,775
T 12,776
11T MISRASEX 25,551 0 25,551
O=S T HEE B3l A
25,551,000& 25,551
Al 12,775
- 12,776
Zojel Exditel 2¢ 36,687 43,257 N6,570
Zofe Lxtel KNI (HHQ M8 =AY & AX 36,687 43,257 N6,570
)
101 @124l 36,267 42,837 A6,570
04 JIZHHZ2Z2XNSE+ 36,267 42,837 A6,570
OZOHel dXtel XN (HoHe &8 =+ ¢
= xtel) 36,267
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2N
X ZH -
L= B

el

0l &t o

=
i

2

|
N
r
e H 4 W

oy o

[
e
(OS]

|
W
=)

00 T

HL H

I
=z K
0

>
=

on

0

1,174,850 «3F «9&
43,6003 «3E 8

32,768,000 *3.7%
32,768,000 «4.5%
32,768,000 *1.6%
32,768,000& *0.87%

31,721
1,047
1,213
1,475

525
286

N
2
e
%
M0
02

420

420

(]
=
>
=
ol o

0 40
i
o

O

==
e
Bl
0R
I

4

>
i)

0

I

[

2xaiel 294

420,000&

420

420

420

>
k>

Jn

Ol
P
i)
(.
r«
o
e}

Y=g

2,679

2,215,

57
261
145

,563

017
474
300
772

3,451,

608

NTT72,045

U=

2,679,

2,215
57
261
145

563
017
474
300
772

3,451,

608

ATT72,045

e
rJ
Hu

H

Al

2,089,

1,850
167
71

889
604
500
785

2,566,

140

N476,251

301 LEIEN =

W

Al

273
241
21
9

,000
743
,880
377

350,

000

AT7,000

273,000,000&

273

,000

273,000
241,743
21,880
9,377

350,

000

AT7,000

307 21201 ™

1,816,889
1,608,861
145,620
62,408

2,216,

140

A 399,251

ARSI S XA E X

oxgzz

1,816,889,000&

H

Al

1,816,889
1,816,889

1,608,861
145,620
62,408

2,216,

140

A 399,251

o
03
o
oy

H

Al

35,827
32,105
2,605
1,117

221

. 760

A 185,933
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2M: =2 ZO0HCI
¥ HASS XNgolersg
chelr g XE NEXE (B9 ®R)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
301 LEHZ 35,827 221,760 A 185,933
2 32,105
Al 2,605
- 1,117
01 MEI2EZE %06z 35,827 221,760 A 185,933
oxgzeea 35,827,000& 35,827
= 32,105
Al 2,605
- 1,117
NATeEdH 29 301,831 262,111 39,720
= 211,282
Al 45,274
T 45,275
307 21201 A 301,831 262,111 39,720
=2 211,282
Al 45,274
T 45,275
10 ALSISXAIEEE2GHEX 301,831 262,111 39,720
OXdiady 29 301,831,000 301,831
2 211,282
Al 45,274
T 45,275
NG e EBAA SRE > 1,750 1,600 150
Al 1,750
307 2201 A 1,750 1,600 150
Al 1,750
10 M2 SXNANEHE2IHEX 1,750 1,600 150
OXNSTHEUEHSAR S8 = 1,750,000& 1,750
Al 1,750
NAXEHEHSAR S22 &l 1,200 800 400
Al 1,200
307 glz2tol & 1,200 800 400
Al 1,200
10 AL SXAIEEE2EH EX 1,200 800 400
ONATBHEZAT SSAB2 Y]
1,200,000& 1,200
Al 1,200
NAXNEHHSAA 3 EHSY 22,489 14,882 7,607
Al 11,244
- 11,245
307 glz2tol & 22,489 14,882 7,607
Al 11,244
- 11,245
10 AL SXNAIEEHE2EH EX 22,489 14,882 7,607
ONATEMEEANT 2L EE
22,489,000 22,489
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2M: =2 ZO0HCI
g NASS NE)eEg
ool ZHI2 HE. NEXY CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
Al 11,244
T 11,245
S|2E(job)0t ZENE 10,000 10,000 0
Al 10,000
307 gl2tol & 10,000 10,000 0
Al 10,000
11T AIS S RAEE = 10,000 10,000 0
OslY&(job)0t Z2HME 10,000, 000& 10,000
Al 10,000
TARES ABIMEIA STA (2 ) (M) (TFANR 82,106 81,093 1,013
)
s 57,474
Al 12,316
- 12,316
307 21201 A 82,106 81,093 1,013
s 57,474
Al 12,316
- 12,316
11T ALS S RAEE = 82,106 81,093 1,013
OJtArZtE 22X & ALY 82,106,000& 82,106
as 57,474
Al 12,316
- 12,316
22s8UA=s == Ex==SK3 134,471 293,222 A 158,751
= 121,026
Al 9,411
T 4,034
307 glz2+ol & 134,471 293,222 A 158,751
= 121,026
Al 9,411
T 4,034
11T MISRAMSER 134,471 293,222 A 158,751
OIS E1 34,975,000 34,975
= 31,478
Al 2,448
- 1,049
OgLISEE2 42,127,000 42,127
= 37,914
Al 2,949
T 1,264
ougassd 25,251,000 25,251
= 22,725
Al 1,768
- 758
OFYsLISEE 9,708,000& 9,708
= 8,737
Al 680
T 291
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2M: =2 ZO0HCI

¥ HASS XNgolersg

Cel: ZHlE R NEXY EERED

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OHEMEAH 22,410,000& 22,410

= 20,172
Al 1,566
- 672
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